ETHEERRS LN

(1 ) x"e®dx = L x"e™ — 1 [ x" e dx (n>0)
a a

(2) J'eaX sinbxdx= aze_axbz (asinbx —bcosbx)
+

2

(3) [e™ cosaxdx = iz(acosbx+bsinbx)
a“+b

(4) jxsin axdx = izsin ax—l X cosax
a a

2
(5) J'xzsinaxdx:z—)z(sinax+(£2—5 )cosax
a a® a

6 1 X .
Ixcosaxdx= — Cosax+ —sinax
a a

X2

(7_[x2 cosaxdx = 2—)z(cosax+ (= —%)sin ax)
a a a

X Jax? +c +Lln(\/5x+\/ax2+c) (a>0)
2 2\/a

(8) [Vax+ody -

x\/zi c . |—a
—+ax+c+ arcsm(‘/—x)
2 2\J/—a c

(a<0)
J?sin” xdx (-t z (n:IE1|%&)

ntt 2

(9) =
Iozcos” xdx (n=Ht (n B Eﬁ&)

(a>0)

NN



(1 O) Loc sinax dx —

X

—% (a<0)

n!
n+l

(n:Ei@%%ﬁ,a>0)

(1 1 ) ) I:e‘“x”dx= -
(1 2) J':e‘axzdx=l\/§

2

(13) [rrevm- o0t 2
(14) waz””e‘axzdx: "

2an+l

(1 5) fsmz axdx:%

X2

(1 6) J.:xe“"‘xsinbxdx:ZLb (a>0)

(a* +b?)?

Lw xe ™ cosbxdx = % ( a> 0)



